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Section (A): Multiple Choice Questions              (40 Marks- 2 Marks for each)            

1. What is the printout of the following code:

Double x = Math.sqrt(100.0) + 1/2 * 10;


System.out.println("x is " + x);

A. x is 10

B. x is 10.0

C. x is 15

D. x is 15.0

2. Given that: int n = 61; what is the value of the expression:  n % 2 == 0

A. true

E. false

B. 30

C. 0

3. An int variable can hold

A. 97.0

B. "97"

C. "a"

F. 'a'   

4. Which of the following assignment statements is incorrect?

A. i = j = k = 1;

B. i = j = 1;  k = 1;

C. i = j = 1 =  k = 1;

D. i = 1; j =  k = 1;

5. What is the printout of the following code:

 
 int x = 0;

   int y = ++x + x * 5;


   System.out.println("y is " + y);

A. y is 0

B. y is 1

C. y is 5

6. y is 6

7. What error is the following code segment producing?

    long y = 1.0;

A. Logical error

B. Run-time error

C. Compile-time error

D. No error

8. What is the output of the following Java code?

         int i;

for(i =0; i <=2; i++) 

   System.out.print(i + " ");

   System.out.print(i);

A. 1 2 3

B. 0 1 2

C. 0 1 2 3

D. 1 2 3 4

9. What is the output of the following Java code?

int x, y;

x = y = 1;

if (x < y)

System.out.println("x < y");

else

System.out.println("x > y");

A. x < y

B. x > y

C. x< y    

x>y

D. no output

10. Which of the following is not true of a counter controlled loop?

A. The counter variable must be initialized.

B. The counter variable must be declared. 

C. The counter variable must be promoted.

D. The counter variable must be tested in the loop condition.

11. Which of the following is the best definition of a method signature?

A. The name of the method.

B. The name of the method together with its number of parameters.

C. The name of the method together with the number, type and order of its parameters.

D. The name of the method together with the types of its parameters and its return type.

12.  If  n=2, the output of the following program segment is:

switch( n ) {

case 1:


System.out.println("Good Morning");


break;  

case 2:

case 3:


System.out.println("Good Afternoon");


break; 

case 12:


 System.out.println("No Reply");


 break; 

default:


System.out.println("n is not a valid input");

} 

A. Good Afternoon




B. n is not a valid input

C. Good Morning 




D.  Nothing will be displayed

13. ………..does not require evaluation of a (logical) expression:

A. if

B. if….else….

C. switch

D. a and b

14. An array of size N is indexed from……….

A. 0 to N

B. 0 to N-1

C. 1 to N

D. 1 to N-1

15. Given an int variable i and a double variable d, which of the following is not legal?

A. d = i;

B. i = d;

C. i = (int) d;

D. d = i + 2.0;

16. Consider the following two-dimensional array:

           int twoDimArr [ ] [ ] = new int [ 4 ] [ 6 ];

Choose the most accurate statement of the following:

A. twoDimArr[0].length is equal to 6

B. twoDimArr[0].length is equal to  4

C. twoDimArr[4].length is equal to  4

D. twoDimArr[3].length is equal to  4

17. Assume that the following code is correctly inserted into a program. What is content of variable z after execution?

int z = 1;

do {

      --z;

     } while (z == 0);

A. null

B. 1

C. 0

D. -1

18. Use a while loop when --------------------

A. You want to execute the body only if the condition is true. 

B. You want to execute the body at least once.

C. You want to repeat the body a known / "definite" number of times.

D. All above

19. In   --------------- the number of actual parameters, together with their data types, must match the formal parameters in the order given.

A. Array

B. Method

C. Repetition 

D. if ..else

20. If a program needs to choose one of two statements to execute depending on the value of some int value, which of the following types of statement would be most suitable ?

A. for loop.

B. do while loop.

C. switch statement.

D. if .. else  statement.

21. Which of the following statements legally declares and initialises a two dimensional array of integers?

A. int [ ] a = {1, 3, 2};

B. int int [ ] a = new int[10][5];

C. int [ ] [ ] a = { {1, 3, 2}, {9, 7} };

D. int [ ] [ ] a = new int[10];

Section (B): Short Answer.     ( 30 marks)

1. Answer the following  questions:-                                                 (5 Marks)

A. Differentiate between Data fields & local variables?    

Answer

Data fields are declared in a class body / block, and can be accessed within it (including all the method body / blocks inside it).         ( 1 Marks)

Local variables are declared in a method body / block, and can be accessed only within it (including any other blocks inside it).      ( 1 Marks)

B. For most primitive data types, conversion to a "bigger" type / range of values   (widening) happens automatically in two situations, assignment conversion and promotion.                                                                             

  Give an example to explain assignment conversion and promotion.

Answer 

Assignment conversion:  occurs when a value of one type is assigned 

to a variable of another type, for example:


double d = 1;    // assign. conversion of int 1 to double 1.0

         or any other example                                          (1 Mark)

Promotion:  occurs when operators need operands of a certain type, 

for example if result and sum are double, and count is int:


result = sum / count;  
 // promotion of int count to double

            or any other example                                     (1 Mark)

C. What is the advantage of short circuit evaluation?                   

Answer 

                                                                                   (1 Mark)

This short–circuit evaluation speeds up the program

2.                                                                                                            (5 marks)

A).   Find the output of the following statements:-              

i). int  i=2;    (1 Mark)           

     double  d=3.6;

     System.out.println( i + (int) d);

     output  5

ii). System.out.println( 5+ 'a') ;   (1 Mark) 

                                      output  102

B).    By using  Math.max( ) , write only one  java statement to find the    

       maximum out of three numbers     X=13, Y=7, Z=15

             max = Math.max(Math.max(X, Y), Z);     

             max = Math.max(Math.max(13, 7), 15);     (1 Mark)

C).   Write Boolean expressions that evaluate to true when                 

i). j  is  a positive  multiple of 3           

       data = (j>0) && (j%3==0)         (1 Mark)

or            (j>0) && (j%3==0)  

ii). ch is a lowercase letter                   

                      (ch>= 'a' ) && (ch<= 'z')             (1 Mark)  

3. Find the output that produced by the following java program.               (5 Mark)

public class nested_loop{

  public static void main(String[] args){

    for(int i=6;i>=1;i--)

    { 

      for(int k=6;k>=i;k--)                 Answer:-

         System.out.print(" ");             

      for(int j=1; j<=i;j++)               _____________________

          System.out.print(j);             _____________________

      System.out.println();                _____________________

    }                                      _____________________

  }}                                       _____________________

Answer:-

123456                                     (1 Mark)

  12345                                     (1 Mark)

    1234                                     (1 Mark)

      123                                     (1 Mark)

        12                                     (1 Mark)

          1

4. Suppose list is an array of five elements of type int. what is stored in the List after the following java code executes?                                                        ( 5 Marks)

int [ ]List =new int[5]

int  i;

for (i=0; i<5; i++) {

    List[i] = 2* i +5;

    if (i% 2 ==0)

    List[i] = List[i] -3 ;

}

Answer (2  7  6  11  10)         (1 Mark for each number)

5. Write a method called maxIntArray which accepts an array of int as input and returns the maximum value in the array.                                                           (5 mark)

Answer:- 

public int maxIntArray(int [] z){                     (1 mark)
  int max = z[0];                                                               (0.5 mark)
  for (int i = 1; i < z.length; i++){          (1 mark)
     if (z[i] > max){                                                    (1 mark)
     max = z[i];                                                                 (1 mark)
  }
  return max;                                                                        (0.5 mark)
}

6. Given an array myArray in the initial state shown below, what is the final state when the following code has executed?                                                       ( 5 Marks)




 if (myArray[3] < myArray[2]) myArray[2] = myArray[3];    (1 mark)


 myArray[6] += 2;                                        (1 mark)                                                                            


 myArray[2 + 1] = myArray[2] + myArray[3];               (1 mark)                                  


 if (myArray[1] == 6) myArray[1] = 7;                    (1 mark)                  


 myArray[3]--;                                           (1 mark)  


                     [0]       [1]      [2]        [3]       [4]       [5]      [6]


     initial            4         6         2         5        12        4         3


     final          4             7      2
   6
      12
    4
  5

Section (C): Long answer                                                    (10 marks)

Write java application program that allow the user to enter the students  name and their  university number, and output the students  name and their  university number  in ascending order according to student university number. ( Hint: use array(s) to hold the names and the university number of the students.So you can use one array for names and one for numbers)

Example.

Input                                                                        Output

Ali        200599220                                                  Hind    200599122                                              

Huda    200599218                                                   Khalid 200599190

Khalid  200599190                                                   Huda    200599218

Hind     200599122                                                   Ali    200599220

Answer (section c):-

One possible solution 

//This program used for sorting 

import java.util.Scanner;

public class SortingNumber{

  public static void main (String [] args) {

    int temp1 ;

    String temp2;

    Scanner scan=new Scanner(System.in);

    int []number =new int[4];

    String []name =new String[4];

    for(int i=0;i<number.length;i++) //read the array elements 

      {

        System.out.println("Enter The Student Name And Student Number");

        name[i]=scan.next();

        number[i]=scan.nextInt();

      }

    for( int i=0;i<number.length;i++)

     {

       for(int j=i+1;j<number.length;j++)

       if (number[i] > number[j])

         {

           temp1=number[i]; //replace the numbers

           number[i]=number[j];

           number[j]=temp1;

           temp2=name[i]; //replace the names

           name[i]=name[j];

           name[j]=temp2;

        }

      System.out.println(" " + name[i] + " " + number[i]); 

    }

}

}

 (3 marks) will be given to the correct data structures declarations 

 (4 marks) will be given the good program logic (good algorithm) .

 (2 marks) will be given to the good program documentation and clarity

 (1 mark ) will be given to the good program format
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